
Subject: Quick question
Posted by ChiChiRuiz@gmail.com on Thu, 16 Mar 2006 22:57:51 GMT
View Forum Message <> Reply to Message

Hi all,

  I have two arrays
A = [54      55      66      69     148     158     197     226     245
    251     276     302     303     393     433] <-- (15 elements)
B = [55      66      69     148     158     197     226     251     276
    302     303     393     433
] <--(13 elements)

Is there a function that returns (A union B) and (A intersection B)?

thanks a lot.
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